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#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 NS: 2% ZIEHGHO) -26 9 NS: #B{E3E FER(EAC) -23 VP:| 7.17 12.83| Total VP: 79.02 Rank:
EW: =6 lREEEEAC) 23 EW: Z25E78 £I3%7K(BAO) 26 IMP:| 15 23 2
I — I -
#1 & A52 3DE3 -110 Mean: 2CW-2 100 50 1 [[# 2 # 53 3HW3 -140 Mean: 2DXS3 380 9.0 1
v T32 3DE3-110 -70  2CS2 90 40 1 v J3 3CN-4 -400 -40  5HW-2 100 40 1
* A4 Dif: 0 NS:-1 4DE-1 50 30 1 ¢ AJ32 Dif: 260 NS:-3 4HW-2 100 40 2
» K9872 IMP: 0 EW:1 P 0 20 3 & AQT75 IMP: 6 EW:8 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ aA54 3DE4 130 -20 1||E 2~21~ &3 4HW5 -450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS3 140 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5DS5 600 Mean: 5SN5 650 2.0 1
v AKT973 3SS-2-100 -40  3SS3 140 50 3 v AJ 3NN5660 600 3NS5 660 2.0 1
* 9% Dif: 240 NsS:5 2SS2 110 40 2 ¢ T5 Dif: -60 NS:0 3NN5 660 2.0 10
& 63 IMP: 6 EW:2 A 00 2 & KJ9632 IMP: -2 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4SW5 -450 Mean: 2SW4 170 60 1 ||# 6 & T7532 2SN-2 -100 Mean: 4HE-3 300 80 1
v Q7 4HE4 -420 -420 3NE3 400 1.0 1 v Q86 2HW2 -110 -30  4HW-2 200 6.0 2
¢ 763 Dif: -30 NS:-1 A 00 2 ¢ AK74 Dif: 10 NS:-2 4HE-2 200 6.0 1
& 19762 IMP: -1 EW:0 4HE4 420 00 8 &3 IMP: 0 EW:2 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 4SS7 710 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-1-50 Mean: 3NS3 400 10.0 2
v 96 6SS7 1460 1640 7NS7 2220 110 2 v3 3NS-2-100 -30 2SS2 110 40 1
¢ KT4 Dif: -750 NS:-14 A 00 2 ¢ AKJ54 Dif: 50 NS:-1 A 00 2
& QT9863 IMP: -13 EW:5 6SS7 1460 50 7 & KQ732 IMP: 2 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SS-1 -100 Mean: 4SXXN4 1080 12.0 1
v AQ94 4S5S4 420 430 4SS5 450 1.0 13 v AQ 3SN4 170 370  4SXN4 790 9.0 5
*8 Dif: 30 NS:1 A 0.0 2 * Dif: -270 NS:-10 4SS5 650 7.0 1
& AT43 IMP: 1 EW:0 4Ss4 420 00 4 & 19865 IMP: -7 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~
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NS: 2T EHRGEO) -3 14 NS: FRig % E#&1EEAC) -9 VP:| 13.43 : 6.57 Total VP: 69.07 Rank:
EW: E&Hi 2k J51EEAC) 9 EW: i#tiRiE Fi55(B0) 3 IMP:| 15 5 5
e —————————————————yr— I
& A52 2DXE3 -280 Mean: 2CW-2 100 50 1 [[# 2 # 53 4HW-2 100 Mean: 2DXS3 380 9.0 1
v T32 3HN-3-150 -70 2CS2 90 40 1 v J3 5HW-2 100 -40  5HW-2 100 40 1
* A4 Dif: -130 NS:-5 4DE-1 50 30 1 ¢ AJ32 Dif: 0 NS:4 4HW-2 100 40 2
» K9872 IMP: -4 EW:2 P 0 20 3 & AQT75 IMP: 0 EW:-4 3HW-2 100 40 2
s 84 1NN-1 50 1.0 3 ||a Q86 » A974 4HW-1 50 30 2
v A4 A 00 2 || AQ876 I v T92 3HW-1 50 30 2
¢ QJT73 3HN-2 4100 1.0 1 ||e K987 IS A 0.0 2
» QJB3 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
» KQ76 2DE3 410 1.0 1 B¢V AN 4 KIT2 2HW3 140 3.0 4
v J875 3HN-3 4150 20 2 |IN ~3 ~~1 v K54 2HE3 140 3.0 1
92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
& A54 3DE4 130 20 1||E 2~21~ &3 4HW5 450 9.0 1
2DXE3 280 50 1 2~31~
s Q43 3SS3 140 Mean: 3NS3 400 100 1 |[|# 4 s QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-1-50 -40  3SS3 140 50 3 v AJ 3NN5 660 600 3NS5 660 2.0 1
* 9% Dif: 190 NS:5 2SS2 110 40 2 ¢ T5 Dif: 0 NS:2 3NN5 660 2.0 10
& 63 IMP: 5 EW:0 A 00 2 & KJ9632 IMP: 0 EW:-2 A 00 2
a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v QJB4 38S-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
* 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
~ AB7 38S-2 100 20 1 ||aAQ a 854 6CN-1 100 120 1
& KT972 48S-3 150 -3.0 4 F OV AN 4 KI73
v2 4SS-4 200 -40 1|IN 55~45 ¢ Q
¢ AJ6B5 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
& KJ5 E ~~1~~ a&T7
~ o~ ‘| ~ o~
4 843 4HE5 -450 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE-3 300 Mean: 4HE-3 300 80 1
v Q7 3NE4 -430 -420 3NE3 400 1.0 1 v Q86 4HW-2 200 -30  4HW-2 200 6.0 2
¢ 763 Dif: 20 NS:-1 A 00 2 ¢ AK74 Dif: 100 NS:8 4HE-2 200 6.0 1
» T9762 IMP: -1 EW:0 4HE4 420 00 8 &3 IMP: 3 EW:-6 2CXS2 180 50 1
& A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
* K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
» A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
» Q76 FOVAN ,AS 3CXS-1 4100 20 1
v J95 N 1~~~~ 993 2SN-2 100 20 1
* AQ2 S 1~~~~ 532 2HW2 410 20 1
» KJ83 E ~~2~2 &AJT762 2CXS-1 100 20 1
~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
s A9 6SS7 1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2-100 Mean: 3NS3 400 10.0 2
v 96 6SS7 1460 1640  7NS7 2220 110 2 v3 3NS-2-100 -30 2SS2 110 40 1
¢ KT4 Dif: 0 NS:-5 A 00 2 + AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:5 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
+ v 8753 4SS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
* Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
S a KJ4 s T9 » A864 3CN-2 4100 20 1
& KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
v AKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
* A2 S 22~22 ¢97
& A E ~~~~~ & J5
4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 3DE3 -110 Mean: 4SXXN4 1080 120 1
v AQ94 4SS5450 430 4SS5 450 1.0 13 v AQ 3DS-4-400 370  4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 0.0 2 * Dif: 290 NS:-10 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & T9865 IMP: 7 EW:13 4SN4 620 6.0 2
a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ 943 * 98753 ¢ KQT2 3SN4 170 50 3
» 875 » KQJ4 & A3 2SN4 170 50 3
& KQ763 *¢VAN 4 Q654 48S-1 100 -10.0 1
v K62 N 1~~31 »J98 3DE3 110 100 1
¢ QJ5 S 1~~31 ¢AJ64 4SXS-1 200 110 1
® K2 E ~22~~ aT72 3DS-4 400 -13.0 1
~ 2 2 ~ o~




St - = Z
6 111#E<F2RBEHRFEIBE ==> R6 6
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AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
3 NS: &£F2 FEEGHO) -3 1 3 NS: 15AREE BEIGEN(BAC) 12 VP:| 6.28 13.72| Total VP: 65.98 Rank:
EW: E$553 8FEREEAC) -12 EW: [RES) €55 (B0) 3 IMP:| 6 17 6
# 1 Iy 4\% PO Mean: 2CW-2 100 50 1 |[[# 2 - ﬁ-g 3Hw3 -140 Mean: 2DXS3 380 9.0 1
v 3DE3 -110 -70  2CS2 90 40 1 v 3HW-150 -40  5HW-2 100 40 1
* A4 Dif: 110 NS:2 4DE-1 50 30 1 ¢ AJ32 Dif: -190 NS:-3 4HW-2 100 40 2
» K9872 IMP:3 EW:1 P 0 20 3 & AQT75 IMP: -5 EW:-3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 2SS2 110 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5CS5 600 Mean: 5SN5 650 2.0 1
v AKT973 2SS2110 -40  3SS3 140 50 3 v AJ 5DS5600 600 3NS5 660 2.0 1
* 9% Dif: 0 NS:4 2SS2 110 40 2 ¢ T5 Dif: 0 NS:0 3NN5 660 2.0 10
& 63 IMP: 0 EW:-4 A 00 2 & KJ9632 IMP: 0 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 38S-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
% ¢ VAN oKTI72 48S-3 150 -3.0 4 F OV AN 4 KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HE4 -420 Mean: 2SW4 170 60 1 ||# 6 & T7532 3HW-1 100 Mean: 4HE-3 300 80 1
v (7)673 4HE4D-¢28 -420  3NE3 400 1.0 1 v gﬁ% 4HW-1D 1ng 30 4HW-2 200 6.0 2
. if:0 NS:0 A 00 2 . if: 0 NS:4 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: 0 EW:-4 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-1-50 Mean: 3NS3 400 10.0 2
v %4 6SS7 1460 1640  7NS7 2220 110 2 v iKJ54 3NS-3-150 -30  2SS2 110 40 1
¢ Dif: 0 NS:-5 A 00 2 . Dif: 100 NS:-1 A 00 2
& QT9863 IMP: 0 EW:5 6SS7 1460 50 7 & KQ732 IMP: 3 EW:3 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 S ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 » KJ4 & T9 & A864 3CN-2 100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 2SN4 170 Mean: 4SXXN4 1080 12.0 1
v 2\094 4SS5450 430 4SS5 450 1.0 13 v AQ 4SXN4 790 370  4SXN4 790 9.0 5
. Dif: 0 Ns:1 A 00 2 . Dif: -620 NS:-5 4SS5 650 70 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & 19865 IMP: -12 EW:-9 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 111#E<F2RBEHRFEIBE ==> R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
4 NS: R JeEEiEEo) -9 1 6 NS: E30& HERE(BAC) 8 VP:| 5.72 14.28 | Total VP: 57.36 Rank:
EW: B2z BRZE0MEAC) -8 EW: [REIZ SBEL3R(BAO) 9 IMP:| 18 31 15
7 .fT\g-% 2DE3 110 Moan: 2owz - 100 50 1 ]]# 2 .ﬁ-g» 3HW-150 Moan: 2DXS3 380 80 1
v 3HN-3-150 -70 2CS2 90 40 1 v 2HW3 -140 -40  5HW-2 100 40 1
* A4 Dif: 40 NS:-1 4DE-1 50 30 1 ¢ AJ32 Dif: 190 NS:3  4HW-2 100 40 2
» K9872 IMP:1 EW:2 P 0 20 3 & AQT75 IMP: 5 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-2 -100 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5CN5 600 Mean: 5SN5 650 2.0 1
v AKT973 3NS3400 -40  3sS3 140 50 3 v AJ 3NN5 660 600 3NS5 660 2.0 1
* 9% Dif: -500 NS:-2 2SS2 110 40 2 ¢ T5 Dif: -60 NS:0 3NN5 660 2.0 10
& 63 IMP: -11 EW:-10 A 00 2 & KJ9632 IMP: -2 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 38S-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 -420 Mean: 2SW4 170 60 1 ||# 6 'y &/35632 2CXS-1-100 Mean: 4HE-3 300 80 1
v 2SW4 -170 -420 3NE3 400 1.0 1 v 2HE-1100 -30  4HW-2 200 6.0 2
¢ 763 Dif: 250 NS:0 A 00 2 ¢ AK74 Dif: 200 NS:-2 4HE-2 200 6.0 1
& 19762 IMP: -6 EW:-6 4HE4 420 00 8 &3 IMP: -5 EW:-4 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6NN6 1440 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2-100 Mean: 3NS3 400 10.0 2
v 96 4SS7 710 1640 7NS7 2220 110 2 v3 3NS-2-100 -30  2SS2 110 40 1
¢ KT4 Dif: 730 NS:-5 A 00 2 ¢ AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 12 EW:14 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 3SS5200 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SN4 620 Mean: 4SXXN4 1080 120 1
v 2\094 4S5S4 420 430 4SS5 450 1.0 13 v AQ 4SS5650 370  4SXN4 790 9.0 5
. Dif: -220 NS:-6 A 00 2 . Dif: -30 NS:6 4SS5 650 7.0 1
& AT43 IMP: -6 EW:0 4SS4 420 00 4 & 19865 IMP: -1 EW:-7 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 111#E<F2RBEHRFEIBE ==> R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
5 NS: EHiE # BiEGHO) 22 12 NS: B2 STRM(BAC) 21 VP:| 10.39 : 9.61 Total VP: 61.20 Rank:
EW: BEAAN BEEEIC) -21 EW: 2#ZF R (BO) -2 IMP:| 24 23 12
# 1 ' #g-% 2CS290 Mean: 2CW-2 100 50 1 [|# 2 ' i-g 4HW-2 100 Mean: 2DXS3 380 9.0 1
v 2CW-2100 -70  2CS2 90 40 1 v 2DXS3 380 -40  5HW-2 100 40 1
* A4 Dif: 10 NS:4 4DE-1 50 30 1 ¢ AJ32 Dif: -280 NS:4 4HW-2 100 40 2
» K9872 IMP: 0 EW:5 P 0 20 3 & AQT75 IMP: -7 EW:-9 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS3 140 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5SN5 650 Mean: 5SN5 650 2.0 1
v AKT973 4SS-3-150 -40  3SS3 140 50 3 v AJ 5DS5600 600 3NS5 660 2.0 1
* 9% Dif: 290 NS:5 2SS2 110 40 2 ¢ T5 Dif: 50 NS:2 3NN5 660 2.0 10
& 63 IMP: 7 EW:3 A 00 2 & KJ9632 IMP: 2 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 38S-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HES5 -450 Mean: 2SW4 170 60 1 ||# 6 'y &/35632 2HE-1 100 Mean: 4HE-3 300 80 1
v 3NE5 -460 -420 3NE3 400 1.0 1 v 4HW-2 200 -30  4HW-2 200 6.0 2
¢ 763 Dif: 10 NS:-1 A 00 2 ¢ AK74 Dif: 100 NS:4 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:1 4HE4 420 00 8 &3 IMP: -3 EW:-6 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS3 400 Mean: 3NS3 400 10.0 2
v %4 7SS7 2210 1640  7NS7 2220 110 2 v iKJ54 3CN-1-50 -30 2sS2 110 40 1
¢ Dif: -750 Ns:-5 A 00 2 . Dif: 450 NS:10 A 00 2
& QT9863 IMP: -13 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 10 EW:1 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4HE-3 300 Mean: 4SXXN4 1080 12.0 1
v AQ94 4S5S4 420 430 4SS5 450 1.0 13 v AQ 3SN4 170 370  4SXN4 790 9.0 5
*8 Dif: 30 NS:1 A 00 2 . Dif: 130 NS:-2 4SS5 650 7.0 1
& AT43 IMP: 1 EW:0 4Ss4 420 00 4 & 19865 IMP: 4 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - -
6 11#F=F >ABERFLRE ==> RE 6
AYA
#1: 9 BER(97.78) #2: 1 F5E(79.02) #3: 17 7:1%(69 86)
6 NS: E=5t ERIREGHO) 11 21 NS: #5R $E{_#(BAC) 16 VP:| 8.15 11.85| Total VP: 37.60 Rank:
EW: BEEEE BRES2(BAC) -16 EW: $E{_# MER(BO) -1 IMP:| 8 13 20
# 1 Iy AB? PO Mean: 2CW-2 100 50 1 |[[# 2 - 53 3Hw3 -140 Mean: 2DXS3 380 9.0 1
v I\ZZ 3DW4-130 -70  2CS2 90 40 1 v i\?j 2 2HE3 -140 40  5HW-2 100 40 1
. Dif: 130 NS:2 4DE-1 50 30 1 . Dif: 0 NS:-3 4HW-2 100 40 2
» K9872 IMP: 4 EW:2 P 0 20 3 & AQT75 IMP: 0 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 10 3 Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-2 -100 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-3 -150 -40  3SS3 140 50 3 v AJ 5DS5600 600 3NS5 660 2.0 1
. gg Dif: 50 NS:-2 2SS2 110 40 2 . 59632 Dif: 60 NS:2 3NN5 660 2.0 10
& IMP:2 EwW:3 A 00 2 & IMP:2 EW:0 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
% ¢ VAN oKTI72 48S-3 150 -3.0 4 F OV AN 4 KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 3NE5 -460 Mean: 2SW4 170 60 1 ||# 6 ' &/35632 2HE3 -140 Mean: 4HE-3 300 80 1
v 3NE3 -400 -420 3NE3 400 1.0 1 v 2HE-1100 -30  4HW-2 200 6.0 2
¢ 763 Dif: -60 NS:-1 A 00 2 ¢ AK74 Dif: -240 NS:-3 4HE-2 200 6.0 1
& 19762 IMP: -2 EW:-1 4HE4 420 00 8 &3 IMP: -6 EW:-4 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 110 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3DN-2 -100 Mean: 3NS3 400 10.0 2
v 96 7SS7 2210 1640  7NS7 2220 110 2 v3 5DN-2 -100 -30  2SS2 110 40 1
¢ KT4 Dif: 0 NS:11 A 00 2 ¢ AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
JT2 + v 8753 4887 710 140 2 ||e QJTS v 9742 3NS-2 100 20 8
+ J9863 S ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 » KJ4 & T9 & A864 3CN-2 100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SN4 620 Mean: 4SXXN4 1080 120 1
v AQ94 4SS5450 430 4SS5 450 1.0 13 v AQ 4SXN4 790 370  4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 00 2 . Dif: -170 NS:6 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4SS4 420 00 4 & 19865 IMP: -5 EW:-9 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 £#F<Z >RMBERF AL —=> RE 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
7 NS: BEZ72 SFIrEIGEO) 25 18 NS: ZpiZiE BRIZZE(BAC) -17 VP:| 18.00 : 2.00 Total VP: 65.82 Rank:
EW: =5 E BEEEIC) 17 EW: $¥518 M8 (F0) -2 IMP:| 43 12 7
I
# 1 'S %T\gg 1”“1 -50 Mean: 2CW-2 100 50 1 |[[# 2 'S ﬁ-é% 2Hw?3 -140 Mean: 2DXS3 380 9.0 1
v -1-50 -70  2CS2 90 40 1 v 4HW-150 -40  5HW-2 100 40 1
* A4 Dif: 0 NS:1 4DE-1 50 30 1 ¢ AJ32 Dif: -190 NS:-3 4HW-2 100 40 2
» K9872 IMP: 0 EW:-1 P 0 20 3 & AQT75 IMP: -5 EW:-3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
. 1}§865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
- » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 48S-1-50 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 3NXS-3-500 -40  3SS3 140 50 3 v AJ 5CN5 600 600 3NS5 660 2.0 1
. gg Dif: 450 NS:0 2SS2 110 40 2 ¢ T5 Dif: 60 NS:2 3NN5 660 2.0 10
3 IMP: 10 EW:10 A 00 2 & KJ9632 IMP: 2 EW:0 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 3NE5 -460 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE-2 200 Mean: 4HE-3 300 80 1
v 4HE5 -450 -420  3NE3 400 1.0 1 v Q86 3CXS-1-100 -30  4HW-2 200 6.0 2
¢ 763 Dif: -10 NS:-1 A 00 2 ¢ AK74 Dif: 300 NS:6 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:1 4HE4 420 00 8 &3 IMP: 7 EW:2 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-1-50 Mean: 3NS3 400 10.0 2
v %4 6CS-1-100 1640 7NS7 2220 110 2 v3 5DN-3 -150 -30  2SS2 110 40 1
. Dif: 2310 NS:11 A 00 2 + AKJ54 Dif: 100 NS:-1 A 00 2
& QT9863 IMP: 20 EW:17 6SS7 1460 50 7 & KQ732 IMP: 3 EW:3 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SXN4 790 Mean: 4SXXN4 1080 12.0 1
v 2\094 4SN4 420 430 4SS5 450 1.0 13 v AQ 4SXXN4 1080 370  4SXN4 790 9.0 5
. Dif: 30 NS:1 A 00 2 * Dif: 290 NsS:9 4SS5 650 7.0 1
& AT43 IMP: 1 EW:0 4SS4 420 00 4 & T9865 IMP: -7 EW:-12 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 £#F<Z >RMBERF AL —=> RE 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
8 NS: ZR4E #EBEI0) -9 1 9 NS: iimss IR E(BAC) 13 VP:| 4.25 15.75| Total VP: 49.32 Rank:
EW: #THE BREEE(EAC) -13 EW: $RZE #i51H(F90) 9 IMP:| 8 27 18
I
# 1 A¢g§ 1NN-1 -50 Mean: 2CW-2 100 50 1 |[[# 2 .ﬁ-g 3HW-2 100 Mean: 2DXS3 380 9.0 1
v PO -70 2CS2 90 40 1 v 2HW3 -140 -40  5HW-2 100 40 1
* A4 Dif: -50 NS:1  4DE-1 50 30 1 ¢ AJ32 Dif: 240 NS:4 4HW-2 100 40 2
» K9872 IMP: -2 EW:-2 P 0 20 3 & AQT75 IMP: 6 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
. 1}§865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
- » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-3 -150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NS5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-4-200 -40  3SS3 140 50 3 v AJ 3NN5 660 600 3NS5 660 2.0 1
. gg Dif: 50 NS:-3 2SS2 110 40 2 ¢ T5 Dif: 0 NS:2 3NN5 660 2.0 10
3 IMP: 2 EW:4 A 00 2 & KJ9632 IMP: 0 EW:-2 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HES5 -450 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE4 -620 Mean: 4HE-3 300 80 1
v 4HE4 -420 -420  3NE3 400 1.0 1 v Q86 2HE3 -140 -30  4HW-2 200 6.0 2
¢ 763 Dif: -30 NS:-1 A 00 2 ¢ AK74 Dif: -480 NS:-11 4HE-2 200 6.0 1
& 19762 IMP: -1 EW:0 4HE4 420 00 8 &3 IMP: -10 EW:3 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7NS7 2220 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2-100 Mean: 3NS3 400 10.0 2
v %4 7SS7 2210 1640  7NS7 2220 110 2 v3 3CN-2-100 -30  2SS2 110 40 1
. Dif: 10 NS:11 A 00 2 ¢ AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
. Jggss S ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 75 & KJ4 & T9 & A864 3CN-2 100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SXS-1-200 Mean: 4SXXN4 1080 120 1
v §094 4SS5450 430 4SS5 450 1.0 13 v AQ 4SXN4 790 370  4SXN4 790 9.0 5
. Dif: 0 NS:1 A 00 2 . Dif: -990 NS:-11 4SS5 650 7.0 1
N & AT43 " IMP: 0 EW:-1 4SS4 420 00 4 & 19865 IMP: -14 EW:-9 4SN4 620 6.0 2
'y » 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
9 NS: f3{FE #HFEFEEC) -23 1 NS: 223 21515(F0) -26 VP:| 12.83 : 7.17 Total VP: 97.78 Rank:
EW: ZEREJE FRE/KEHO) 26 EW: E}#8 sRERFH(BAC) 23 IMP:| 23 15 1
I — I -
#1 & A52 3DE3 110 Mean: 2CW-2 100 50 1 [[# 2 # 53 3HW3 140 Mean: 2DXS3 380 9.0 1
v T32 3DE3110 -70  2CS2 90 40 1 v J3 3CN-4 400 -40  5HW-2 100 40 1
* A4 Dif: 0 NS:-1 4DE-1 50 30 1 ¢ AJ32 Dif: -260 NS:-8 4HW-2 100 40 2
» K9872 IMP: 0 EW:1 P 0 20 3 & AQT75 IMP: -6 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ aA54 3DE4 130 -20 1||E 2~21~ &3 4HW5 -450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS3 -140 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5DS5 -600 Mean: 5SN5 650 2.0 1
v AKT973 3SS-2100 -40  3SS3 140 50 3 v AJ 3NN5 -660 600 3NS5 660 2.0 1
* 9% Dif: -240 NsS:-2 2SS2 110 40 2 ¢ T5 Dif: 60 NS:2 3NN5 660 2.0 10
& 63 IMP: -6 EW:-5 A 00 2 & KJ9632 IMP: 2 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4SW5 450 Mean: 2SW4 170 60 1 ||# 6 & T7532 2SN-2 100 Mean: 4HE-3 300 80 1
v Q7 4HE4 420 -420  3NE3 400 1.0 1 v Q86 2HW2 110 -30  4HW-2 200 6.0 2
¢ 763 Dif: 30 NS:0 A 00 2 ¢ AK74 Dif: -10 NS:-2 4HE-2 200 6.0 1
& 19762 IMP: 1 EW:1 4HE4 420 00 8 &3 IMP: 0 EW:2 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 4SS7 -710 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-150 Mean: 3NS3 400 10.0 2
v 96 6SS7 -1460 1640 7NS7 2220 110 2 v3 3NS-2100 -30 2SS2 110 40 1
¢ KT4 Dif: 750 NS:-5 A 00 2 ¢ AKJ54 Dif: -50 NS:2 A 00 2
& QT9863 IMP: 13 EW:14 6SS7 1460 50 7 & KQ732 IMP: -2 EW:1 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SS-1 100 Mean: 4SXXN4 1080 120 1
v AQ94 4SS4 -420 430 4SS5 450 1.0 13 v AQ 3SN4 -170 370  4SXN4 790 9.0 5
*8 Dif: -30 NS:0 A 0.0 2 * Dif: 270 NS:-5 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-1 4Ss4 420 00 4 & 19865 IMP: 7 EW:10 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 £ EF 2 RMpEHF LB L ==> R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 O NS: (B80) 0 22 NS: (BAC) 0 VP:| 12.00 : 0.00 Total VP: 12.00 Rank:
EW: (BEC)0 EW: (Bd0)0 IMP:| 0 0 21
# 1 Iy AB? Mean: 2CW-2 100 50 1 |[[# 2 Iy 53 Mean: 2DXS3 380 9.0 1
v T32 70 2CS2 90 40 1 v J3 40  5HW-2 100 40 1
* A4 Dif: NS:0 4DE-1 50 30 1 ¢ AJ32 Dif: NS:0 4HW-2 100 40 2
& K9872 IMP: EW:0 P 0 20 3 & AQT75 IMP: EW:0 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 » Q43 Mean: 3NS3 400 100 1 |[|# 4 » QT6 Mean: 5SN5 650 2.0 1
v AKT973 40  3SS3 140 50 3 v AJ 600 3NS5 660 2.0 1
* 9% Dif: NS:0 2SS2 110 40 2 ¢ T5 Dif: NS:0 3NN5 660 2.0 10
& 63 IMP: EW:0 A 00 2 & KJ9632 IMP: EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 38S-1 50 0.0 1 ||e KT98742 I v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 s 843 Mean: 2SW4 170 60 1 ||# 6 o T7532 Mean: 4HE-3 300 80 1
v Q7 -420  3NE3 400 1.0 1 v Q86 30 4HW-2 200 6.0 2
¢ 763 Dif: NS:0 A 00 2 ¢ AK74 Dif: NS:0 4HE-2 200 6.0 1
& T9762 IMP: EW:0 4HE4 420 00 8 &3 IMP: EW:0 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 Mean: 7SS7 2210 110 7 ||# 8 » 87 Mean: 3NS3 400 10.0 2
v 96 1640  7NS7 2220 110 2 v3 30 28S2 110 40 1
¢ KT4 Dif: NS:0 A 00 2 ¢ AKJ54 Dif: NS:0 A 00 2
& QT9863 IMP: EW:0 6SS7 1460 50 7 & KQ732 IMP: EW:0 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 S ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 » KJ4 & T9 & A864 3CN-2 100 20 1
L J SN o, KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 & T985 Mean: 4SS6 480 2.0 1 ||# 10 & AT9832 Mean: 4SXXN4 1080 120 1
v AQ94 430 4SS5 450 1.0 13 v AQ 370  4SXN4 790 9.0 5
*8 Dif: NS:0 A 00 2 . Dif: NS:0 4SS5 650 7.0 1
& AT43 IMP: EW:0 4sSs4 420 00 4 & 19865 IMP: EW:0 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 I v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




o - 2
6 111#E<F2RBEHRFEIBE ==> R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 1 NS: H&E S%FEGE0) -11 20 NS: #EIEF] 58 R(BAC) 4 VP:| 5.72 14.28 | Total VP: 48.78 Rank:
EW: $E55 55 BEEZ(EAC) 4 EW: &iil55 BRiEF%(BO) 11 IMP:| 18 31 19
7 .fT\g-% 3HN-2 -100 Moan: 20wz 100 50 1% 2 .ﬁ-g» 2HW3 140 Moan: 2DXS3 380 S0 1
v 4DE-150 -70 2CS2 90 40 1 v 4HW-150 -40  5HW-2 100 40 1
* A4 Dif: -150 NS:-1 4DE-1 50 30 1 ¢ AJ32 Dif: -190 NS:-3 4HW-2 100 40 2
» K9872 IMP: -4 EW:-3 P 0 20 3 & AQT75 IMP: -5 EW:-3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS-1-50 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-1-50 -40  3SS3 140 50 3 v AJ 6CN-1-100 600 3NS5 660 2.0 1
. gg Dif: 0 NS:0 2SS2 110 40 2 . 59632 Dif: 760 NS:2 3NN5 660 2.0 10
& IMP:0 EW:0 A 00 2 & IMP: 13 EW:12 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
% ¢ VAN oKTI72 48S-3 150 -3.0 4 F OV AN 4 KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 -420 Mean: 2SW4 170 60 1 ||# 6 ' &/35632 3CS-3 -150 Mean: 4HE-3 300 80 1
v 3NE4 -430 -420  3NE3 400 1.0 1 v 2CXS2180 -30  4HW-2 200 6.0 2
¢ 763 Dif: 10 NS:0 A 00 2 ¢ AK74 Dif: -330 NS:-3 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: -8 EW:-5 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 25S2 110 Mean: 3NS3 400 10.0 2
v 96 7NS7 2220 1640  7NS7 2220 110 2 v3 3NS-2-100 -30  2SS2 110 40 1
¢ KT4 Dif: -760 NS:-5 A 00 2 ¢ AKJ54 Dif: 210 NS:4 A 00 2
& QT9863 IMP: -13 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 5 EW:2 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS4 420 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 3SN4 170 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS5450 430 4SS5 450 1.0 13 v AQ 2SN4 170 370  4SXN4 790 9.0 5
*8 Dif: -30 NS:0 A 00 2 . Dif: 0 NS:-5 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-1 4SS4 420 00 4 & 19865 IMP: 0 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
AYA ' y
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 2 NS: R TTRINEAC) 21 5 NS: 1% HRI5(F0) 22 VP:| 9.61 10.39| Total VP: 59.70 Rank:
EW: &% 5 BEFEEI0) -22 EW: [RiEL REF(BAC) -2 IMP:| 23 24 13
I I
# 1 # A52 2CS2-90 Mean: 2CW-2 100 50 1 |[[# 2 a 53 4HW-2 -100 Mean: 2DXS3 380 9.0 1
v T32 2CW-2-100 -70  2CS2 90 40 1 v J3 2DXS3 -380 -40  5HW-2 100 40 1
* A4 Dif: 10 NS:5 4DE-1 50 30 1 ¢ AJ32 Dif: 280 NS:9 4HW-2 100 40 2
» K9872 IMP: 0 EW:-4 P 0 20 3 & AQT75 IMP: 7 EW:-4 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS3 -140 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5SN5 -650 Mean: 5SN5 650 2.0 1
v AKT973 4SS-3150 -40  3SS3 140 50 3 v AJ 5DS5 -600 600 3NS5 660 2.0 1
* 9% Dif: -290 NS:-3 2SS2 110 40 2 ¢ T5 Dif: -50 NS:0 3NN5 660 2.0 10
& 63 IMP: -7 EW:-5 A 00 2 & KJ9632 IMP: -2 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 ¢ Q
S ~~22~ ¢AJB5 3NXS-3 500 -10.0 1||S 55~ 45 ¢ AKQJ96
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HES5 450 Mean: 2SW4 170 60 1 ||# 6 & T7532 2HE-1-100 Mean: 4HE-3 300 80 1
v Q7 3NE5 460 -420 3NE3 400 1.0 1 v Q86 4HW-2 -200 -30  4HW-2 200 6.0 2
¢ 763 Dif: -10 NS:-1 A 00 2 ¢ AK74 Dif: 100 NS:6 4HE-2 200 6.0 1
» T9762 IMP: 0 EW:1 4HE4 420 00 8 &3 IMP: 3 EW:-4 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 -1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS3 -400 Mean: 3NS3 400 10.0 2
v 96 7SS7 -2210 1640  7NS7 2220 110 2 v3 3CN-150 -30 2SS2 110 40 1
¢ KT4 Dif: 750 NS:11 A 00 2 + AKJ54 Dif: -450 NS:-1 A 00 2
& QT9863 IMP: 13 EW:5 6SS7 1460 50 7 & KQ732 IMP: -10 EW:-10 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4HE-3 -300 Mean: 4SXXN4 1080 120 1
v AQ94 4SS4 -420 430 4SS5 450 1.0 13 v AQ 3SN4 -170 370  4SXN4 790 9.0 5
*8 Dif: -30 NS:0 A 0.0 2 * Dif: -130 NS:-5 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-1 4Ss4 420 00 4 & T9865 IMP: -4 EW:2 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 3 NS: #BIFE BEEMedIEAC) 12 3 NS: £F% FHE&A(FO0) -3 VP:| 13.72 : 6.28 | Total VP: 69.25 Rank:
EW: BEEEE) &2 5(EH0) 3 EW: Eifi BRHEEAC) 1 IMP:| 17 : 6 4
I I -
# 1 # A52 PO Mean: 2CW-2 100 50 1 |[[# 2 a 53 3HW3 140 Mean: 2DXS3 380 9.0 1
v T32 3DE3110 -70  2CS2 90 40 1 v J3 3HW-1-50 -40  5HW-2 100 40 1
* A4 Dif: -110 NS:-1 4DE-1 50 30 1 ¢ AJ32 Dif: 190 NS:3  4HW-2 100 40 2
» K9872 IMP: -3 EW:2 P 0 20 3 & AQT75 IMP: 5 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 2SS2 -110 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5CS5-600 Mean: 5SN5 650 2.0 1
v AKT973 2SS2-110 -40  3SS3 140 50 3 v AJ 5DS5-600 600 3NS5 660 2.0 1
* 9% Dif: 0 NS:4 2SS2 110 40 2 ¢ T5 Dif: 0 NS:0 3NN5 660 2.0 10
& 63 IMP: 0 EW:-4 A 00 2 & KJ9632 IMP: 0 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HE4 420 Mean: 2SW4 170 60 1 ||# 6 & T7532 3HW-1-100 Mean: 4HE-3 300 80 1
v Q7 4HE4 420 -420 3NE3 400 1.0 1 v Q86 4HW-1-100 -30  4HW-2 200 6.0 2
¢ 763 Dif: 0 NS:0 A 00 2 ¢ AK74 Dif: 0 NS:4 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: 0 EW:-4 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 -1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-150 Mean: 3NS3 400 10.0 2
v 96 6SS7 -1460 1640 7NS7 2220 110 2 v3 3NS-3150 -30  2SS2 110 40 1
¢ KT4 Dif: 0 NS:-5 A 00 2 ¢ AKJ54 Dif: -100 NsS:-3 A 00 2
& QT9863 IMP: 0 EW:5 6SS7 1460 50 7 & KQ732 IMP: -3 EW:1 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 2SN4 170 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS5 -450 430 4SS5 450 1.0 13 v AQ 4SXN4 -790 370  4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 0.0 2 * Dif: 620 NS:9 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & 19865 IMP: 12 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 4 NS: BRiEE EEFEEIC) -9 2 NS: 25T i (F0) -3 VP:| 6.57 : 13.43| Total VP: 59.52 Rank:
EW: iR £552BH0) 3 EW: EZEM L/IEPRAC) 9 IMP:| 5 15 14
I - I
# 1 o A52 2DXE3 280 Mean: 2CW-2 100 50 1 |[[# 2 # 53 4HW-2 -100 Mean: 2DXS3 380 9.0 1
v T32 3HN-3150 -70 2CS2 90 40 1 v J3 5HW-2 -100 -40  5HW-2 100 40 1
* A4 Dif: 130 NS:-2 4DE-1 50 30 1 ¢ AJ32 Dif: 0 NS:4 4HW-2 100 40 2
» K9872 IMP: 4 EW:5 P 0 20 3 & AQT75 IMP: 0 EW:-4 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS3 -140 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 -660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-150 -40  3SS3 140 50 3 v AJ 3NN5 -660 600 3NS5 660 2.0 1
* 9% Dif: -190 NS:0 2SS2 110 40 2 ¢ T5 Dif: 0 NS:2 3NN5 660 2.0 10
& 63 IMP: -5 EW:-5 A 00 2 & KJ9632 IMP: 0 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HES5 450 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE-3 -300 Mean: 4HE-3 300 80 1
v Q7 3NE4 430 -420 3NE3 400 1.0 1 v Q86 4HW-2 -200 -30  4HW-2 200 6.0 2
¢ 763 Dif: 20 NS:0 A 00 2 ¢ AK74 Dif: 100 NS:6 4HE-2 200 6.0 1
& 19762 IMP: 1 EW:1 4HE4 420 00 8 &3 IMP: -3 EW:-8 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 -1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2100 Mean: 3NS3 400 10.0 2
v 96 6SS7 -1460 1640 7NS7 2220 110 2 v3 3NS-2100 -30 2SS2 110 40 1
¢ KT4 Dif: 0 NS:-5 A 00 2 ¢ AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:5 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 3DE3 110 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS5 -450 430 4SS5 450 1.0 13 v AQ 3DS-4400 370 4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 0.0 2 * Dif: -290 NS:-13 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & 19865 IMP: -7 EW:10 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - - Z
6 1NEFF2ABEEEFR 2 == R6 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 5 NS: HE& BABGHO) -18 17 NS: At 4 RAIE(BAC) 30 VP:| 0.14 19.86 | Total VP: 50.60 Rank:
EW: BEEE #HSBEEIC) -30 EW: RiEF5 BEE(BAO) 18 IMP:| 0 46 17
I — I -
# 1 Iy _fr\gg 3DE4 -130 Mean: 2CW-2 100 50 1 |[[# 2 'S ﬁg 4HWS5 -450 Mean: 2DXS3 380 9.0 1
v 3DE3 -110 -70  2CS2 90 40 1 v 3HW-2 100 -40  5HW-2 100 40 1
* A4 Dif: -20 NS:-2 4DE-1 50 30 1 ¢ AJ32 Dif: -550 NS:-9 4HW-2 100 40 2
» K9872 IMP: -1 EW:1 P 0 20 3 & AQT75 IMP: -11 EW:-4 3HW-2 100 40 2
» JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-3 -150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-1-50 -40  3SS3 140 50 3 v AJ 3NN5 660 600 3NS5 660 2.0 1
. gg Dif: -100 NS:-3 2SS2 110 40 2 . 59632 Dif: 0 NS:2 3NN5 660 2.0 10
& IMP: -3 EW:0 A 00 2 & IMP: 0 EW:-2 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 -420 Mean: 2SW4 170 60 1 ||# 6 ' &/35632 3NE3 -600 Mean: 4HE-3 300 80 1
v 4HE4 -420 -420  3NE3 400 1.0 1 v 2SXN-2 -300 -30  4HW-2 200 6.0 2
¢ 763 Dif: 0 NS:0 A 00 2 ¢ AK74 Dif: -300 NS:-11 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: -7 EW:7 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A54 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2-100 Mean: 3NS3 400 10.0 2
v ﬁ? ” 7SS7 2210 1640  7NS7 2220 110 2 v i K54 3NS3400 -30 2SS2 110 40 1
¢ Dif: 0 NS:11 A 00 2 * Dif: -500 Ns:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: -11 EW:-10 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 2SN4 170 Mean: 4SXXN4 1080 12.0 1
v §094 4SS6 480 430 4SS5 450 1.0 13 v AQ 4SXN4 790 370  4SXN4 790 9.0 5
. Dif: -30 NS:1 A 00 2 * Dif: -620 NS:-5 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-2 4SS4 420 00 4 & T9865 IMP: -12 EW:-9 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 6 NS: @308 PREREEHC) 8 4 NS: BiE&E JaFi(Bo) -9 VP:| 14.28 : 5.72 | Total VP: 65.26 Rank:
EW: BEEISZ SRBEREI0) 9 EW: RF % BRZ50\(BAC) -8 IMP:| 31 18 9
I — I
# 1 # A52 2DE3 110 Mean: 2CW-2 100 50 1 |[[# 2 a 53 3HW-1-50 Mean: 2DXS3 380 9.0 1
v T32 3HN-3150 -70 2CS2 90 40 1 v J3 2HW3 140 -40  5HW-2 100 40 1
* A4 Dif: -40 NS:-2 4DE-1 50 30 1 ¢ AJ32 Dif: -190 NS:-3 4HW-2 100 40 2
» K9872 IMP: -1 EW:1 P 0 20 3 & AQT75 IMP: -5 EW:-3 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-2 100 Mean: 3NS3 400 100 1 |[|# 4 » QT6 5CN5 -600 Mean: 5SN5 650 2.0 1
v AKT973 3NS3 -400 -40  3SS3 140 50 3 v AJ 3NN5 -660 600 3NS5 660 2.0 1
* 9% Dif: 500 NS:10 2SS2 110 40 2 ¢ T5 Dif: 60 NS:2 3NN5 660 2.0 10
& 63 IMP: 11 EW:2 A 00 2 & KJ9632 IMP: 2 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HE4 420 Mean: 2SW4 170 60 1 ||# 6 & T7532 2CXS-1 100 Mean: 4HE-3 300 80 1
v Q7 2SW4 170 -420  3NE3 400 1.0 1 v Q86 2HE-1-100 -30  4HW-2 200 6.0 2
¢ 763 Dif: 250 NS:6 A 00 2 ¢ AK74 Dif: 200 NS:4 4HE-2 200 6.0 1
» T9762 IMP: 6 EW:0 4HE4 420 00 8 &3 IMP: 5 EW:2 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6NN6 -1440 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2100 Mean: 3NS3 400 10.0 2
v 96 4SS7 -710 1640 7NS7 2220 110 2 v3 3NS-2100 -30 2SS2 110 40 1
¢ KT4 Dif: -730 NS:-14 A 00 2 + AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: -12 EW:5 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 3SS5-200 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SN4 -620 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS4 -420 430 4SS5 450 1.0 13 v AQ 4SS5 -650 370  4SXN4 790 9.0 5
*8 Dif: 220 NS:0 A 0.0 2 * Dif: 30 NS:7 4SS5 650 7.0 1
& AT43 IMP: 6 EW:6 4SS4 420 00 4 & T9865 IMP: 1 EW:-6 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 111#E<F2RBEHRFEIBE ==> R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 7 NS: BRIEEY SBISRFHC) 30 15 NS: #E7 1B&IR(30) -14 VP:| 19.86 : 0.14 | Total VP: 69.86 Rank:
EW: B FEEEEH0) 18 EW: ¥E2E #RE(BAC) -3 IMP:| 46 0 3
7 .fT\g-% 3DE4 130 Mean: 20wz 100 50 1 ||# 2 .ﬁ-g» 4HW5 450 Mean: 2DXS3 380 S0 1
v 3DE3110 -70  2CS2 90 40 1 v 3HW-2-100 -40  5HW-2 100 40 1
* A4 Dif: 20 NS:-1  4DE-1 50 30 1 ¢ AJ32 Dif: 550 NS:4 4HW-2 100 40 2
» K9872 IMP: 1 EW:2 P 0 20 3 & AQT75 IMP: 11 EW:9 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 48S-3 150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 -660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-150 -40  3SS3 140 50 3 v AJ 3NN5-660 600 3NS5 660 2.0 1
. gg Dif: 100 NS:0 2SS2 110 40 2 . 59632 Dif: 0 NS:2 3NN5 660 2.0 10
& IMP:3 EW:3 A 00 2 & IMP: 0 EW:-2 A 00 2
a6 ~ AJB5 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
% ¢ VAN oKTI72 48S-3 150 -3.0 4 F OV AN 4 KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 420 Mean: 2SW4 170 60 1 ||# 6 ' &/35632 3NE3 600 Mean: 4HE-3 300 80 1
v 4HE4 420 -420 3NE3 400 1.0 1 v 2SXN-2 300 -30  4HW-2 200 6.0 2
¢ 763 Dif: 0 NS:0 A 00 2 ¢ AK74 Dif: 300 NS:-7 4HE-2 200 6.0 1
» T9762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: 7 EW:11 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
- » A54 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 110 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 -2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2100 Mean: 3NS3 400 10.0 2
v % ” 7SS7 -2210 1640  7NS7 2220 110 2 v i KUsa 3NS3-400 -30 2SS2 110 40 1
¢ Dif: 0 NS:11 A 00 2 . Dif: 500 NsS:10 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 11 EW:2 3CN-1 50 1.0 4
s J4 ~ 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 2SN4 170 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS6 -480 430 4SS5 450 1.0 13 v AQ 4SXN4 -790 370  4SXN4 790 9.0 5
*8 Dif: 30 NSs:2 A 00 2 . Dif: 620 NS:9 4SS5 650 7.0 1
& AT43 IMP: 1 EW:-1 4SS4 420 00 4 & T9865 IMP: 12 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 3885 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
+ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
AYA ' y
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 8 NS: F3EE BREFEEAC) -17 7 NS: BRER ZB1I#(BAO) 25 VP:| 2.00 18.00 | Total VP: 52.00 Rank:
EW: 55 8 B (BHO) -25 EW: EHE BHE(BAC) 17 IMP:| 12 43 16
I I -
# 1 # A52 1NN-1 50 Mean: 2CW-2 100 50 1 |[[# 2 a 53 2HW3 140 Mean: 2DXS3 380 9.0 1
v T32 1NN-150 -70 2CS2 90 40 1 v J3 4HW-1 -50 -40  5HW-2 100 40 1
* A4 Dif: 0 NS:1 4DE-1 50 30 1 ¢ AJ32 Dif: 190 NS:3  4HW-2 100 40 2
» K9872 IMP: 0 EW:-1 P 0 20 3 & AQT75 IMP: 5 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 -660 Mean: 5SN5 650 2.0 1
v AKT973 3NXS-3500 -40  3SS3 140 50 3 v AJ 5CN5 -600 600 3NS5 660 2.0 1
* 9% Dif: -450 NS:-10 2SS2 110 40 2 ¢ T5 Dif: -60 NS:0 3NN5 660 2.0 10
& 63 IMP: -10 EW:0 A 00 2 & KJ9632 IMP: -2 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 ¢ Q
S ~~22~ ¢AJB5 3NXS-3 500 -10.0 1||S 55~ 45 ¢ AKQJ96
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 3NE5 460 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE-2 -200 Mean: 4HE-3 300 80 1
v Q7 4HE5 450 -420 3NE3 400 1.0 1 v Q86 3CXS-1100 -30  4HW-2 200 6.0 2
¢ 763 Dif: 10 NS:-1 A 00 2 ¢ AK74 Dif: -300 NS:-2 4HE-2 200 6.0 1
» T9762 IMP: 0 EW:1 4HE4 420 00 8 &3 IMP: -7 EW:-6 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 -2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3CN-150 Mean: 3NS3 400 10.0 2
v 96 6CS-1100 1640 7NS7 2220 110 2 v3 5DN-3150 -30  2SS2 110 40 1
¢ KT4 Dif: -2310 NS:-17 A 00 2 + AKJ54 Dif: -100 NsS:-3 A 00 2
& QT9863 IMP: -20 EW:-11 6SS7 1460 50 7 & KQ732 IMP: -3 EW:1 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SXN4 -790 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SN4 -420 430 4SS5 450 1.0 13 v AQ 4SXXN4 -1080 370  4SXN4 790 9.0 5
*8 Dif: -30 NS:0 A 0.0 2 * Dif: 290 NS:12 4SS5 650 7.0 1
& AT43 IMP: -1 EW:-1 4Ss4 420 00 4 & T9865 IMP: 7 EW:-9 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
1 9 NS: ZiF2s o 528h(EEC) 13 8 NS: 221& FEH(FOo) -9 VP:| 15.75 : 4.25 Total VP: 65.75 Rank:
EW: 3842 #$5HEE0) 9 EW: T 1t BREE(BAC) 1 IMP:| 27 8 8
I I
# 1 # A52 1NN-1 50 Mean: 2CW-2 100 50 1 |[[# 2 a 53 3HW-2 -100 Mean: 2DXS3 380 9.0 1
v T32 PO -70 2CS2 90 40 1 v J3 2HW3 140 -40  5HW-2 100 40 1
* A4 Dif: 50 NS:2 4DE-1 50 30 1 ¢ AJ32 Dif: -240 NS:-3 4HW-2 100 40 2
» K9872 IMP: 2 EW:-1 P 0 20 3 & AQT75 IMP: -6 EW:-4 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 s Q43 48S-3 150 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NS5 -660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-4200 -40  3SS3 140 50 3 v AJ 3NN5-660 600 3NS5 660 2.0 1
* 9% Dif: -50 NS:-4 2SS2 110 40 2 ¢ T5 Dif: 0 NS:2 3NN5 660 2.0 10
& 63 IMP: -2 EW:3 A 00 2 & KJ9632 IMP: 0 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 4HES5 450 Mean: 2SW4 170 60 1 ||# 6 & T7532 4HE4 620 Mean: 4HE-3 300 80 1
v Q7 4HE4 420 -420  3NE3 400 1.0 1 v Q86 2HE3 140 -30  4HW-2 200 6.0 2
¢ 763 Dif: 30 NS:0 A 00 2 ¢ AK74 Dif: 480 NS:-3 4HE-2 200 6.0 1
& 19762 IMP: 1 EW:1 4HE4 420 00 8 &3 IMP: 10 EW:11 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7NS7 -2220 Mean: 7SS7 2210 110 7 ||# 8 » 87 3NS-2100 Mean: 3NS3 400 10.0 2
v 96 7SS7 -2210 1640  7NS7 2220 110 2 v3 3CN-2100 -30  28S2 110 40 1
¢ KT4 Dif: -10 NS:11 A 00 2 ¢ AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SXS-1 200 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS5 -450 430 4SS5 450 1.0 13 v AQ 4SXN4 -790 370  4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 0.0 2 * Dif: 990 NS:9 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & 19865 IMP: 14 EW:11 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 111#E<F2RBEHRFEIBE ==> R6 6
L} \J
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
20 NS: FENER 2 ERZ(EHC) 4 1 1 NS: E{#& ST (o) -1 VP:| 14.28 : 5.72 Total VP: 64.28 Rank:
EW: S50 BEEsEBEIO) 11 EW: £3555 [RER(EAC) -4 IMP:| 31 18 10
7 .fT\g-% 3HN-2 100 Moan: 2CW.2 100 50 1% 2 .ﬁ-g» 2HW3 140 Mean:  2DXS3 380 9.0 1
v 4DE-1-50 -70  2CS2 90 40 1 v 4HW-1 -50 -40  5HW-2 100 40 1
* A4 Dif: 150 NS:3  4DE-1 50 30 1 ¢ AJ32 Dif: 190 NS:3  4HW-2 100 40 2
» K9872 IMP: 4 EW:1 P 0 20 3 & AQT75 IMP: 5 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 410 10 4 ||sJ » K98642 3HW3 140 -3.0 3
% ¢ VAN 4,KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ 9J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 3SS-1 50 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 -660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-150 -40  3SS3 140 50 3 v AJ 6CN-1 100 600 3NS5 660 2.0 1
. gg Dif: 0 NS:0 2SS2 110 40 2 . 59632 Dif: -760 NS:-12 3NN5 660 2.0 10
& IMP:0 EW:0 A 00 2 & IMP: -13 EW:-2 A 00 2
a6 a AJ85 48S-1 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 3SS-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 'y 3473 4HE4 420 Mean: 2SW4 170 60 1 ||# 6 'y &/35632 3CS-3150 Mean: 4HE-3 300 80 1
v 3NE4 430 -420 3NE3 400 1.0 1 v 2CXS2-180 -30  4HW-2 200 6.0 2
¢ 763 Dif: -10 NS:0 A 00 2 ¢ AK74 Dif: 330 NS:5 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: 8 EW:3 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||a KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
» A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 6SS7 -1460 Mean: 7SS7 2210 110 7 ||# 8 » 87 2SS2 -110 Mean: 3NS3 400 10.0 2
v 96 7NS7 -2220 1640  7NS7 2220 110 2 v3 3NS-2100 -30  2SS2 110 40 1
¢ KT4 Dif: 760 NS:11 A 00 2 ¢ AKJ54 Dif: -210 NsS:-2 A 00 2
& QT9863 IMP: 13 EW:5 6SS7 1460 50 7 & KQ732 IMP: -5 EW:-4 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 a AKG3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS4 -420 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 3SN4 -170 Mean: 4SXXN4 1080 120 1
v AQ94 4SS5 -450 430 4SS5 450 1.0 13 v AQ 2SN4 -170 370  4SXN4 790 9.0 5
*8 Dif: 30 NS:1 A 0.0 2 * Dif: 0 NS:-5 4SS5 650 7.0 1
& AT43 IMP: 1 EW:0 4SS4 420 00 4 & 19865 IMP: 0 EW:5 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 + 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




X AN >\ ¢ —_—
6 MEEZ2RABERFLB 2 ==> RE 6
1 +
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
2 1 NS: Pdst E{8EEHC) 16 6 NS: Entt) Z2R(FO) 11 VP:| 11.85 : 8.15 | Total VP: 61.85 Rank:
EW: $8{"5¢ &R EHO) -11 EW: FRE2E H&l3Z(BAC) 1 IMP:| 13 8 1
I I -
# 1 # A52 PO Mean: 2CW-2 100 50 1 |[[# 2 a 53 3HW3 140 Mean: 2DXS3 380 9.0 1
v T32 3DW4 130 -70 2CS2 90 40 1 v J3 2HE3 140 -40  5HW-2 100 40 1
* A4 Dif: -130 NS:-2 4DE-1 50 30 1 ¢ AJ32 Dif: 0 NS:-3 4HW-2 100 40 2
» K9872 IMP: -4 EW:2 P 0 20 3 & AQT75 IMP: 0 EW:3 3HW-2 100 40 2
& JT93 s 84 1NN-1 50 1.0 3 ||a Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ aA54 3DE4 130 -20 1||E 2~21~ &3 4HW5 -450 9.0 1
W ~ 3 ~ ~ ~ 2DXE3 280 50 1 2~31~
# 3 s Q43 4SS-2100 Mean: 3NS3 400 100 1 |[|# 4 » QT6 3NN5 -660 Mean: 5SN5 650 2.0 1
v AKT973 4SS-3150 -40  3SS3 140 50 3 v AJ 5DS5 -600 600 3NS5 660 2.0 1
* 9% Dif: -50 NS:-3 2SS2 110 40 2 ¢ T5 Dif: -60 NS:0 3NN5 660 2.0 10
& 63 IMP: -2 EW:2 A 00 2 & KJ9632 IMP: -2 EW:-2 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJ84 3ss-1 50 0.0 1 ||e KT98742 + v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 4 843 3NE5 460 Mean: 2SW4 170 60 1 ||# 6 & T7532 2HE3 140 Mean: 4HE-3 300 80 1
v Q7 3NE3 400 -420 3NE3 400 1.0 1 v Q86 2HE-1-100 -30  4HW-2 200 6.0 2
¢ 763 Dif: 60 NS:1 A 00 2 ¢ AK74 Dif: 240 NS:4 4HE-2 200 6.0 1
& 19762 IMP: 2 EW:1 4HE4 420 00 8 &3 IMP: 6 EW:3 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 1.0 1 ||e K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
» A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~ ~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ » AQ2 S 1 ~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 7SS7 -2210 Mean: 7SS7 2210 110 7 ||# 8 » 87 3DN-2 100 Mean: 3NS3 400 10.0 2
v 96 7SS7 -2210 1640  7NS7 2220 110 2 v3 5DN-2100 -30  2SS2 110 40 1
¢ KT4 Dif: 0 NS:11 A 00 2 + AKJ54 Dif: 0 NS:-2 A 00 2
& QT9863 IMP: 0 EW:-11 6SS7 1460 50 7 & KQ732 IMP: 0 EW:2 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 4sS7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 S » KJ4 & T9 » A864 3CN-2 4100 20 1
%o ¢ VAN ,KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 4 T985 4SS5 -450 Mean: 4SS6 480 20 1 |[|# 10 & AT9832 4SN4 -620 Mean: 4SXXN4 1080 12.0 1
v AQ94 4SS5 -450 430 4SS5 450 1.0 13 v AQ 4SXN4 -790 370  4SXN4 790 9.0 5
*8 Dif: 0 NS:1 A 0.0 2 * Dif: 170 NS:9 4SS5 650 7.0 1
& AT43 IMP: 0 EW:-1 4Ss4 420 00 4 & T9865 IMP: 5 EW:-6 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 _I_ v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




St - = Z
6 1112 F<Z2ABEHREL>EE == R6 6
T '
AYA
#1: 9 B (97.78) #2: 1 FHE(79.02) #3: 17 7R 1% (69.86)
22 NS: (BC) 0 10 NS: (F80)0 VP:| 0.00 12.00 | Total VP: 0.00 Rank:
EW: (550)0 EW: (BiC) 0 IMP:| 0 0 22
# 1 Iy AB? A Mean: 2CW-2 100 50 1 |[[# 2 Iy 53 A Mean: 2DXS3 380 9.0 1
v T32 A 70 2CS2 90 40 1 v J3 A 40  5HW-2 100 40 1
* A4 Dif: 0 NS:0 4DE-1 50 30 1 ¢ AJ32 Dif: 0 NS:0 4HW-2 100 40 2
» K9872 IMP: 0 EW:0 P 0 20 3 & AQT75 IMP: 0 EW:0 3HW-2 100 40 2
& JT93 s 84 1NN-1 -50 1.0 3 ||s Q86 & A974 4HW-1 50 30 2
v KQ96 v Ad A 00 2 ||v AQ876 I v T92 3HW-1 50 30 2
+ K865 ¢ QJT73 3HN-2 100  -1.0 1 ||e K987 . A 00 2
T » QJ63 3DE3 4110 1.0 4 ||aJ » K98642 3HW3 140 -3.0 3
d ¢ VAN 4 KQ76 2DE3 410 1.0 1 eV ABN 4 KIT2 2HW3 140 3.0 4
N 1~1~~ ¢J875 3HN-3 150 20 2 |IN ~3~~1 w K54 2HE3 140 3.0 1
S 1~1~~ ¢92 3DW4 130 20 1||S ~3 ~~1 ¢ QT654 3CN-4 400 -80 1
E ~3~~~ &A54 3DE4 130 -20 1||E 2~21~ &3 4HW5 450 9.0 1
W ~ 3~~~ 2DXE3 280 50 1 2~31~
# 3 » Q43 A Mean: 3NS3 400 100 1 |[|# 4 » QT6 A Mean: 5SN5 650 2.0 1
v AKT973 A -40  3SS3 140 50 3 v AJ A 600 3NS5 660 2.0 1
* 9% Dif: 0 NS:0 2SS2 110 40 2 ¢ T5 Dif: 0 NS:0 3NN5 660 2.0 10
& 63 IMP: 0 EW:0 A 00 2 & KJ9632 IMP: 0 EW:0 A 00 2
a6 a AJ85 4851 50 0.0 4 ||a94 a A852 5DS5 600 0.0 4
v 65 v QJB4 38S-1 50 0.0 1 ||e KT98742 I v 653 5CS5 600 0.0 1
¢ KQT83 * 72 48S-2 100 -20 2 ||e 72 ¢ 843 5CN5 600 0.0 2
& QT942 ~ AB7 358-2 4100 -20 1 ||aAQ a 854 6CN-1 100 120 1
oo VAN ,KTI72 4SS-3 150 -3.0 4 oo VABN 4, KI73
N ~~22~ 92 4SS-4 200 -40 1|IN 55~45 »Q
S ~~22~ ¢AJ65 3NXS-3 -500 -10.0 1 S 55~ 45 ¢ AKQJIS
E 32~~~ aKJ5 E ~~1~~ a&T7
W 31~~~ ~~1~~
#5 s 843 A Mean: 2SW4 170 60 1 ||# 6 o T7532 A Mean: 4HE-3 300 80 1
v Q7 A -420 3NE3 400 1.0 1 v Q86 A 30 4HW-2 200 6.0 2
¢ 763 Dif: 0 NS:0 A 00 2 ¢ AK74 Dif: 0 NS:0 4HE-2 200 6.0 1
& 19762 IMP: 0 EW:0 4HE4 420 00 8 &3 IMP: 0 EW:0 2CXS2 180 50 1
& KJT92 & A5 3NE4 430 0.0 2 ||s KQJS6 a9 4HW-1 100 40 1
v AKT v 86432 4SW5 450 -1.0 1 ||w K742 — v AJT5 3HW-1 100 40 1
¢ JT84 ¢ K95 4HE5 450 1.0 4 ||e T6 * QJ98 2HE-1 100 40 3
L) » A4 3NE5 460 1.0 3 ||a 84 » KQ95 A 00 2
P ¢VABN o, Q76 o ¢VABN o A4 3CXS-1 100 -20 1
N ~~~~~ v J95 N 1~~~~ 993 2SN-2 100 20 1
S ~~~~~ * AQ2 S 1~~~~ 532 2HW2 410 20 1
E ~4542 #KJ83 E ~~2~2 &AJT762 2CXS-1 100 -2.0 1
W ~ 4442 ~~2~2 3CS-3 4150 -3.0 1
2HE3 140 3.0 2
2SXN-2 300 7.0 1
4HE4 620 -11.0 1
3NE3 600 -11.0 1
#7 s A9 A Mean: 7SS7 2210 110 7 ||# 8 » 87 A Mean: 3NS3 400 10.0 2
v 96 A 1640 7NS7 2220 110 2 v3 A 30 28S2 110 40 1
¢ KT4 Dif: 0 NS:0 A 00 2 ¢ AKJ54 Dif: 0 NS:0 A 00 2
& QT9863 IMP: 0 EW:0 6SS7 1460 50 7 & KQ732 IMP: 0 EW:0 3CN-1 50 1.0 4
s J4 a 652 6NN6 1440 50 1 ||aT4 ~ AKB3 5DN-2 100 20 1
v JT2 + v 8753 48S7 710 140 2 ||e QJT8 v 9742 3NS-2 100 20 8
+ J9863 S ¢ Q75 6CS-1 100 -17.0 1 ||e Q8632 T 3DN-2 100 20 1
& 752 » KJ4 & T9 & A864 3CN-2 100 20 1
L J SN o, KQT873 oo VAN 4 QJI52 5DN-3 150 -3.0 1
N 5 ~~77 wAKQ4 N 22~22 v AK65 3NS-3 4150 -3.0 1
S 5~~77 ¢A2 S 22~22 ¢97
E ~~~~~ &A E ~~~~~ & J5
W ~~~~~ W~~~ ~
#9 & T985 A Mean: 4SS6 480 2.0 1 ||# 10 & AT9832 A Mean: 4SXXN4 1080 12.0 1
v §Q94 A 430 4SS5 450 1.0 13 v AQ A 370 4SXN4 790 9.0 5
. Dif: 0 NS:0 A 00 2 * Dif: 0 NS:0 4SS5 650 70 1
& AT43 IMP: 0 EW:0 4ss4 420 00 4 & 19865 IMP: 0 EW:0 4SN4 620 6.0 2
s AJ a 42 4SN4 420 00 1 ||a7 a KJ A 00 2
vT v J8753 38S5 200 60 1 || T76 I v K5432 4HE-3 300 2.0 1
¢ AKT762 ¢ 943 * 98753 + KQT2 3SN4 170 5.0 3
& QJ96 » 875 » KQJ4 & A3 2SN4 170 50 3
% ¢V BN 4 KQ763 o eVAN 4 Q654 4SS-1 100 -10.0 1
N ~~351 vK62 N 1~~31 »J98 3DE3 110 100 1
S ~~351 ¢QJ5 S 1~~31 ¢AJ64 4SXS-1 200 -11.0 1
E ~1~~~ aK2 E ~22~~ &72 3DS-4 400 -13.0 1
W o~ 1~~~ ~22~~




